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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 18 questions divided into 3 sections A, B and C.

3. Section A has total 3 questions having a multiple-choice question and 2 case study based questions.

4. Section B has 6 objective-type questions.

5. Section C has total 9 questions having five questions of 2 marks each and two-two questions of 3 and
4 marks each.

6. There is no overall choice. However internal choice has been provided in each section. You have to
attempt only one of the alternatives in all such questions.

7. There is no negative marking.

8. Use of calculators is not permitted.

Qug — ‘31’ (Section A)

9. ¥ kC o
Q. No. Marks
o7 19 8 g forredtar U 21 (i) | (viii) § &Y I T o7 hITTT| Tk IUWHT 1 3k

Cakd
Question 1 has 8 multiple choice sub-parts. Choose the correct answer from (i) to
(viii). Each sub-part is of 1 mark.
1. (i) | O g O &R 318 & foe a8t 9 T & 8x1
The correct numeral for Forty two lakh seventy thousand eight is:
(a) 427008 (b) 4270080
(c) 4207008 (d) 4270008




(i)

TRl | £ XYZ o1 e &9 § 72 forar st ke 2:

In the figure £ XYZ cannot be written as: <
@zY (b) 2ZXY
(c) £ ZYX (d) 2 XYP
YT/ OR
fou e o 1 = R v Pz >
The diameter of the given circle is: P N
(a) AB (b) PQ )

(©) MN (d) AO NB

(iii) ST U, FTTCH QU1 GE FOTICH TUTieh & HITalT ST €, it oo 1 forg g 2:
(a) T TR (b) T3 T
(C) oTteht o HedTeHe: Wi 9 [+t el & O ERIEIRERES]
When a negative integer is subtracted from another negative integer, the sign of the
result is
(a) always negative (b) always positive
(c) depends on the numerical value of the integers.  (d) never negative
YT/ OR
“ STeT Wk YUTIeh T2 H SITST SITT &, T AT qUITeh & SIST 21T 87| I8 Ho
(3) T T BT R (b) ft T 7 BT @
() I T T BT & STl Ttk Teweh &1 (d) T ROTTeHsh qUTiehi o foTq el BIT &
“When an integer is added to itself, the sum is greater than the integer”. This
statement, is:
(a) always true (b) never true
(c) true only when the integer is positive (d) true for non- negative integers.
(iv) Ffe GTq 3feht ohl God S G@ATH | SIIST 1A , a1 I8 Sei &I:
If 1 is added to the greatest 7 digits number, it will be equal to:
(a) 10 &s”/thousand (b) 1 @m@/lakh
(c) 10 =@m@/lakh (d) 1 =Te/crore
YT/ OR
’ T Ui W AT 58695673 i I T T Y fore et -t & 1
fore:
In International System of Numeration, after inserting commas suitably, the number
58695673 is written as:
(a) 58,69,56,73 (b) 586,956,73
(c) 58,695,673 (d) 5,86,95,673
v) — 10 3 — 15 ¥ sfrer e wy argr quiter &
The greatest integers lying between — 10 and — 15 is:
(a)-11 (b) - 12
(c) -13 (d) —14
V) |~ 1 o ot
The predecessor of the integer — 1 is:
(@) 0 (b)-2
(c) 2 d1




(vii) 3 TE TRl § BC 2:
(a) T @RIV (b) T @
(c) T fereor (d) TH =IO

B —_—>

In the given figure BC is:
(@) a line segment (b) aline
(c) aray (d) an angle

(viii) | freforfad o & o quTier 3 , weelT qoTieh WA TET W, 3HL qUTieh o ST 3R &
In which of the following pairs of integers, the first integer is on the left of the other
integer on the number line?
(a) (10, -1) (b) (=5,-3)
(C) (_ 31 - 5) _ (d) (0! - 6) . _ .
T2 T T 3 hH LT TG T 2| Tk Rl T TR I | 5 IqATRT 2, Sw a =g
4 SYVTT oA §| Tedeh IUWNT 2 3ieh T B
Q 2 and Q 3 are Case Study Based questions and each case study based question
has 5 sub-parts. You have to attempt only 4 sub-parts out of these 5 sub-parts.
Each sub-part is of 2 marks.

2. | U S A STOT AT IR T 3R 50 feRwi/ET 4x2

6T =T © T ST OX a5 = 36 A ol ot .
ﬁ ]Tq-[% 2550 KM
A bus started its journey and reached .
different places with a speed of 50 '
km/hour. The journey is shown in the 1000 K
figure: 3450 KM

(i) A D T I H 59 g 0 i 7T FeA g4 &
The total distance covered by the bus from A to D is:
(@) 9490 Km (b) 9590 Km
(c) 9690 Km (d) 9790 Km

(i) C & A T ST H T8 gRT o shi 718 el gl &:
The total distance covered by the bus from C to A is:
(a) 8000 Km (b) 9000 Km
(c) 10000 Km (d) 11000 Km

(iii) T GR 7F H1 TG FeA U A g A T & BNl & AR AT A T At &
The total distance covered by the bus if it starts from A and returns back to A is:
(@) 19790 Km (b) 16340 Km
(c) 15790 Km (d) 15340 Km

(iv) TAET C & D d IeT 1 foram mam gme 2
The time taken by the bus to travel from C to D is:
(a) 39 ©i¢/Hours (b) 49 =ie/Hours
(c) 59 =iz/Hours (d) 69 =re/Hours

(v) TEE DA A Tk IET | foram T e

The time taken by the bus to travel from D to A is:
(a) 141 =iz/Hours (b) 113 =ie/Hours

(c) 131 =/Hours (d) 114 =i/Hours




Y o foret Te o o foTq W o o ST 98 @ ATawmi sh gt i< a1 778 2

e | fgfam | e srEneEe | faocd ofr e
0°cCE |0°Cad 0°C & 0°C & 0°C &
dHEM | 30°C A= | [0°C 19 | 35°C S | 30°C S | 15°C =

FAfefa 3 forfer=r ot o Q| sl g o fore fe frm s s foma:
0°C ¥ e sl 31+ o fog - forg
0°C ¥ S i g3 & fore -+ g

Following is the list of temperatures of five places in India, on a particular day of year:

PLACE Siachen Shimla Ahmedabad | Delhi Srinagar
TEMPERATURE | 30°C below| 10°C below| 35°C above | 30°C 15°C
0°C 0°C 0°C above 0°C | below 0°C

Aditi uses the following rules to represent the temperature of different places.
Below 0°C is shown using the ‘-’ sign.
Above 0°C is shown using the ‘“+’ sign.

4x2

() ferarfr w1 aromT T @
What would be the temperature of Siachen?
(a) —-15°C (b) +30°C
(c) +15°C (d) =30°C
(ii) e 30T T &:
The coolest place is:
(a) steweTsTa/ Ahmedabad (b) fewefi/ Delhi
(c) R/ Siachen (d) ==/ Srinagar
(iii) S e feeeft & 10 feaft o 21 S o6 /o 22
The city of Jaipur is 10 degree hotter than Delhi. What is the temperature of Jaipur?
(@) + 40°C (b) — 40°C
(c) — 45°C (d) + 45°C
(iv) 3T T TRt o aromT 5 el ohm &1 T | 31T o Rt o draT s om?
On the next day, the temperature of Shimla decreases by 5°. What was the temperature
of Shimla, on the next day?
(a) — 20°C (b) — 5°C
(c)— 15°C (d) — 10°C
(V) 10-10=0.

S & TS GEITal o foru frer ° 9 i 1 e g 22

(a) ~10, 10 3T ToTTewe; Nfawi™ &
(c) ~10, 10 =T T[T HewTHHT

Which of the following is true for the numbers shown above?
(@) —10 is a multiplicative inverse of 10.
(c) —10 is a multiplicative identity of 10.

(b) —10, 10 =i TisT TEETHHT &
(d) 10, 10 & AT YAl &

(b) —10 is the additive identity of 10.
(d) —10 is the additive inverse of 10.




Qug - ‘g’ (Section B)

4. | o e it 4x1
Match the following:
FAHfd/Figure ST T w@ar /Number of sides
(ii) (B) @ THREE
(iii) (C) ur=ar FIVE
(iv) (D) ¥R FOUR
5 | T ®E 4 e s vl 4x1
Fill any 4 blanks out of the following:
() |10 fufaza- EQSS
10 million = crore
(i) | =redar ¥t 6 SFeTS THTET 1290 21 SHERT THITS HE
The length of river ‘Narmada’ is about 1290 km. Its length in metre is
(i) | dermTw g P gw EUEEIENIRIRIEIE
The integer represented by point P on the number line is
P
( 1 | 1 | | | | | | | | >
0
iv 24 x25=24x—
(iv) 4
(v) —15=-10.
T 68 T 9 Ak AT T I TA & | Tk Tef L3TF 1% | 4x1
Question 6 to 9 are Very Short Answer type questions carrying one mark each.
6. | F= 49 gad s 3 g B v fafan |

Write the greatest and the smallest numbers from the following:
25286, 25245, 25270, 25290




et =1 foradia forfe |
@Id | 91d 91§94 ST H T |

Write opposite of the following:
A deposit of rupees seven hundred

13 ¥l U T SHT1ST, I 36eh 3T WIT I BTATTehd TSI |
Draw any polygon and shade its interior.

T3 e 3 fore Tea = e faafaw |

(i)—26, —25 G|

(i) — 1 & BIeT FOMHF U7 2

For the following statements write TRUE or FALSE:
(i) — 26 is greater than — 25.

(if) The smallest negative integer is — 1.
Y47, OR

HEIT @ 21 AT L §U T8 YOIk ST shifoT ST 2 H 6 5 2

Write the integer which is 6 less than 2 on the number line.

Qug - ‘|’ (Section C)

T 10T T 14 ek Tedeh T 2 37k T &
Question 10 to 14 carry two marks each.

10.

3o 9 I Tad Hohs o T W @ §U, el TR 3HehT T TRANT e 4 37hi ohl Tl e 31

oY BIA H&ATT ST |
Make the greatest and smallest 4-digit numbers by using any four different digits
given that digit 9 is always at hundreds place.

ad F37 TEAT 9 aq oIl §&ar 9
Greatest number smallest number

JUAAT, OR
0, 4, 37T 9 H & Torelt Tah 37a T 31 I JAINT hich R 37ehi h! o SISt 3T e BT €A
FATST | ITH AT ot 31ea] § ot fetfay)
By using the digits 0, 4, and 9 make the greatest and the smallest 4-digit numbers by
using any one digit twice. Also write the numbers formed in the words.

11.

SUH TATHT T ST TTEY SR T S i sht Wil dedien wgf # ferfam |
Insert commas suitably and write the name of the following numerals according to
Indian System of Numeration:

8546283, 99900046

12.

T qoifent o1 ST A B FeA R
Write the following integers in the ascending order:
4,(-4),(-3),6

JUAAT, OR
T @ W (—4) 3 (+ 8) = fsfua hifstw:

Represent (—4) and (+ 8) on the number line.

13.

e w6 fore e deies fofae |
Write the Roman Numerals for the following numbers:
()35 (i) 92




14. | @ smepia d, o foreg fefag st

(a) 2 DOF %31 H g |

(b) 2 EOF & aifewimd feerq & |

In the given diagram, name the point(s):

(@) In the interior of £ DOF

(b) In the exterior of « EOF

15T 916 TAR TN 3 FFHTE |
Question 15 and 16 carry three marks each.

15. | o wmsti ot ST s | satia Sifs)

Arrange the following numbers in the ascending order:

(i) 63904, 63949, 63490, 64309,

(i1)56789, 59876, 57689, 56879

YT/ OR

et Terient 1 it &9 fafan)

Write the expansion of the following numerals:

534020, 87980
16. | €T TET T A g, 98 qUries fafae, S

(2T 6FAT| (i) (- 5) T6 RFHT|

Using number line, write the integer which is :

(i) 6 less than 2 (if) 6 more than (- 5)

T173918 TR AT 4 IHFHHTE |
Question 17 and 18 carry four marks each.

17. | 99 KITE & foTg s1asg; ¢

(i) TP T3l T T LW

(i) STTE=T ST T T IH

(i) STE= 0T T TF TW

(iv) W@ 10T T T TH

For quadrilateral KITE, find the following:

(i) A pair of opposite side.

(ii)A pair of adjacent side.

(iii)A pair of adjacent angle.

(iv)A pair of opposite angle. . I
18. | U AT % UTE 78,952 % 9| A 40 USAT GG T ST fam qorm Tedieh A 361 94 1200

% 9T | 39 WK & 911 3Hh U fohdHT Uiy Iy & SITwfi?

A merchant had Rs. 78,952 with her. She placed an order for purchasing 40 radio sets
at Rs. 1200 each. How much money will remain with her after purchase?

AYAT, OR

SHITehT T TANT L&A hITSIT;

Simplify the following using brackets:
(i) 17 x 109

(if) 102 x 103




